Total No. of Questions : 5] SEAT No. :
P590

[Total No. of Pages : 2
[5063|Ext. - 251

S.Y. B.Com.
BUSINESS COMMUNICATION
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) What is Formal Communication? Explain in detail merits and demerits of

Formal Communication. [20]
OR
Define Communication. Explain in detail Principles of effective
communication.
02) What is Interview? Explain in detail types of Interview. [20]
OR

What do you mean by Business letters? Explain Physical appearance of good
Business letter.

03) a) Write Job application letter to The Sales Officer of Max Electronic, Pune
for the post of Accountant. [10]

OR

Write Complaint letter to The Sales Officer of Swapnil Gerenal Stores,
Pune for sending wrong goods.

b) Draft a Memos to Shri Gajanan Sawant, Shaniwar peth, Shrirampur.
from The Manager Swastic Paper Ltd. Aurangabad, regarding

unsatisfactory in their work. [10]
OR

Draft a sales letter to promote the sale of New Television set introduced

in market.

P.T.O.



04) Whatis Social Media networks? Explain Merits and Limitations each type of
Social Media Network. [20]

OR

What is office order? Explain essential points while drafting office order.

05) Write short note (Any Four): [20]
a) Group discussion
b) Barriers to effective communication
c) Multimedia
d) Status Enquiry letter
e) Websites

f)  Barriers to Listening

Q00
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Total No. of Questions : 4] SEAT No. :
P591

Time : 3 Hours]

[Total No. of Pages : 7
[5063]Ext. - 252
S.Y. B.Com.
CORPORATE ACCOUNTING
(2013 Pattern)

[Max. Marks : 100

Instructions to the candidates:

All questions are compulsory.

Figures to the right indicate full marks.
Use of calculator is allowed.

D
2)
3)

01) 2)

b)

Fill in the blanks (any five). [5]

i)  The amount of profit kept a side to maintain uniform rate of dividend
is called

i)  Director’s remuneration shall not exceed % of the net
profits.

i) Profit included in closing stock is called

iv) When subsequent shares are issued, they must be offered to

v)  The court may ask to add the words to the balance sheet
in case of internal reconstruction.

vi) The company whose majority of shares are purchased by holding
company is called

State whether following statements are true or false (any five). [5]

i)  Dividend is paid on calls in advances.

i)  Amount paid to liquidator is called liquidation expenses.

ii) Absorption is dissolution of two or more companies.

iv) External reconstruction and internal reconstruction are same for
accounting treatment.

: Tot —) totd liabiliti
V) Fair value = otal assets ( )-oal abilities
No. of equity shares.
vi) Minority interest is payable to the holding company.

P.T.O.



c) Match the following: [5]

i)  Accounting standard - 10 a) Majority of shares
i) Holding company b) Cost of control
iii) Goodwill is also called c) Accounting for Fixed Assets
iv) Loss on sale of Asset d) Capital Loss
v)  Net Assets e) Valuation of shares

d) Write short notes on (any three). [15]
i) AS-21

i)  Yield Basis Method

i) Pay roll Accounting

iv) Unrealised profit

v) Capital Reduction Account

Q2) Prepare a Balance sheet of Arya Ltd. Nasik as on 31* March 2014 as per

revised schedule VI from the given trial Balance. [20]
Debit Balances 3 Credit Balances 3
Advances 7.44,000 Term loan 20,00,000
Cash & Bank 5,50,000 Creditors 22.,90.,000
Staff Advances 1,10,000 Provision for taxation 3.40,000
Loose tools 1,00,000 Securities premium 9,50,000
Capital work in progress 4,00,000 General Reserve 41,00,000
Investments 4,50,400 Loan from Debtors 4,00,000
Loss for the year 6.00,000 Provision for Bad Debts 40,400
Debtors 24,50,000 Share capital :
Miscellaneous expenses 1,16,000 60,000 Eq. Shares of ¥ 100/-| 60,00,000
Stores 8,00,000 20,000, 10% preference shares
of ¥ 100 each 20,00,000

Fixed Assets (WDV) 11,03,00,000
Finished Goods 15,00,000

1,81,20,400 1,81,20,400
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Additional Information:

Securities premium includes General Reserve 0% 5,00,000
Term loan of % 6,00,000 is secured.

Investment of ¥ 50,400 are short term investments.

Stores and finished goods are parts of inventories.

Prepare Balance sheet with all required Note on Accounts as on 31* March
2014.

a)

b)

03) 2)

OR

Suvarna Ltd. acquired a Plant and Machinery on 1% April 2012 for
% 20,00,000. Incidental expenses amounted to ¥ 1,00,000 were also
incurred for this purpose. The useful life of the Asset was 10 year, and
estimated scrap value was 0f%1,00,000/-. Calculate the Depreciation amount
and explain the same with the provision of relevant accounting standard.[10]

On Dec. 1, 2014 Durga Co. purchased % 4,00,000 worth of land for a
factory site. An old building on land was demolished and company
incurred T 50,000 as a cost of demolition.

3
Legal fees of building contract 10,000
Insurance of'title guarantee 12,000
Proceeds from Sale of salvaged material 8,000

Calculate the cost of land according to relevant accounting standard.[10]

Following is the Balance sheet of Mahesh Ltd. as on 31% March 2013,

on which date, the company went into voluntary liquidation. [15]
Balance sheet
Liabilities Rs. Assets Rs.
12% preference shares 2,00,000 | Land and Building 77,200
of Rs. 100 each Plant & Machinery |1,64,200
Equity shares of Rs. 60,000
100 each, Rs. 60 paid Stock in trade 36,800
Equity shares of Rs. 50,000 | Debtors 2,67,400
100 each, Rs. 50 paid
15% Debentures 80,000 | Profit and loss A/c | 74,400
Preferential Creditors 21,000
Bank overdraft 60,600
Creditors 1,48.400
6,20,000 6,20,000
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i)  The preference dividend is in arrears for two years.
i) The assets realised follows -

Land and building Rs.1,96,800, Stock in trade Rs.32,600, Plant
and Machinery Rs.1,42,400, Debtors Rs.2,38,200.

i) Liquidation expenses amounted Rs. 10,800 and legal expenses
amounted Rs. 4,000.

iv) Liquidator’s remuneration is fixed at 3% on assets realised. Income
tax payable was Rs. 4,900.

v)  Outstanding debenture interest amounted Rs. 12,000.
Prepare liquidator’s final statement of account.
b) Following are the Balance sheets of ‘H’ Ltd. and ‘S’ Ltd. as on

31-3-2012. [15]
Balance Sheet as on 31-3-2012
Liabilities ‘H’Ltd. | ‘S’Ltd. Assets ‘H’Ltd. [‘S’Ltd.
Equity share [4,00,000 | 1,00,000 | Building 1,20,000 | 80,000
Cap.Rs.100 Machinery  {4,00,000 -
each Stock 80,000(1,00,000
General 60,000 20,000 | S.Debtors 20,000 60,000
Reserve
(1-4-11) Bank Balance | 20,000| 10,000
Profit and 1,80,000 90,000 [ 600 sharesin |1,30,000 —
Loss a/c ‘S’Ltd. at cost
Creditors 1,00,000 60,000 | Bills Receivable - 20,000
Bills Payable | 30,000 -
7,70,000 |2,70,000 7,70,00012,70,000

i)  ‘H’ Ltd. acquired shares of ‘S’ L.td. on 1-4-2011, on which date, the
balance of profit and loss account of ‘S’ Ltd. was Rs. 40,000 (Cr).

ii)  Bills Receivable held by ‘S’ Ltd. are all accepted by ‘H’ Ltd.

iii) Included in the debtors of ‘S’Ltd. is Rs. 10,000 owed by ‘H’ Ltd.
in respect of goods supplied.

You are required to prepare Consolidated Balance Sheet of ‘H’ Ltd. and
‘S’ Ltd. along with necessary workings.
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04) The Balance Sheet of Deepak Ltd. as on 315 March 2014 was as follows.[20]

Balance sheet as on 315 March 2014

Liabilities Rs. Assets Rs.

Share Capital Land& Building 1,40,000

2000 shares of Rs. 100

each 2,00,000 Plant & Machinery 1,10,000
General Reserve 64,000 Stock 98,000
Profit & Loss A/c 60,000

Debtors 42,000
Bills Payable 42,400
Creditors 70,000 Cash in Hand 14,400

Advertising Suspense | 32,000

4,36,400 4,36,400

Deepak Ltd. was absorbed by Sridhar Ltd. on the following terms.

a) Deepak Ltd. agreed to write off advertising suspense against its own
reserves.

b) Sridhar Ltd. revalued the assets of Deepak Ltd. as under.

Land & Building Rs. 1,50,000, plant & machinery Rs. 1,04,000, stock
Rs. 1,20,000 and Debtors at Book value.

c) Sridhar Ltd. took over the assets and liabilities of Deepak Ltd. and agreed
to discharge the purchase consideration in 2,600 shares of Rs. 100
each, at Rs. 110 per share and balance in cash.

d) Deepak Ltd. paid its liquidation expenses of Rs. 4,000.

Prepare Realisation A/c, Sridhar Ltd. A/c, Cash A/c and Share holders A/c in
the books of Deepak Ltd. and pass opening journal entries in the books of
Sridhar Ltd.
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OR
a) From the following information relating to Adani Ltd. Delhi, Compute

the Intrinsic value of each Equity share. [10]
Balance Sheet as on 31 March 2014
Liabilities Rs. Assets Rs.
Share Capital : Goodwill 35,000
Issued and paidup Land & Building 95,000
Capital Plant & Machinery 1,35,000
20,000 Equity shares
of Rs. 10 each 2,00,000 Investment 55,000
13,000 preference Stock in trade 65,000
Shares of Rs. 10 each| 1,30,000 Trade Debtors 36,000
Reserve fund 60,000
Cash in Hand 24,000

Trade creditors 45,000
Bills payable 20,000 Under writing commission| 15,000
Taxation Provision 5,000

4,60,000 4,60,000

For the purpose of valuing the equity shares of the company, various
assets were revalued as under.

i)  Book debts realised 100% of book value.

ii)  Stock in trade realised at a profit of Rs. 15,000.
iii) Investment Rs. 60,000.

iv) Goodwill Rs. 50,000.

v) Land and building Rs. 1,10,000.

vi) Plant & Machinery Rs. 1,40,000.
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b) The following was the balance sheet of Aditya Ltd. as on
315 March 2014. [10]

Balance Sheet as on 315 March 2014

Liabilities Rs. Assets Rs.
Share Capital Freehold Property 23,75,000
15,000, 7% Cum. Plant & Machinery 8,00,000

Pref. Shares of

Rs.100 each 15,00,000 Goodwill 3,00,000
2,75,000 equity shares Stock 3,50,000

of Rs.10 each 27,50,000
Debtors 2,25,000

Share Premium 4,00,000
Preliminary Expenses 2,50,000

Sundry creditors 4,00,000
Profit & Loss A/c 7,50,000
50,50,000 50,50,000

The following scheme of reconstruction was approved and duly sanctioned.
i)  Dividend on Preference shares was in arrears as from 1% April 2011.

i)  Preference shares to be reduced to Rs. 80 per share.

i) Equity shares to be reduced to Rs. 5 per share.

iv)  Write of all intangible assets and share premium account.

v)  One equity share of Rs. 5 each to be issued for Rs. 10 for preference
dividend in arrears and remaining amount is to be written off.

vi) Freehold property to be written down to Rs. 18,50,000.
Give necessary journal entries and prepare revised Balance sheet.

Q00
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Total No. of Questions :8] SEAT No. :

P592 [Total No. of Pages : 4

[5063]Ext.-253
S.Y. B.Com.
BUSINESS ECONOMICS - II (Macro)
(2013 Pattern)

Time : 3 Hours] [Max. Marks :100
Instructions to the candidates:

1) Question No. 1 is compulsory.

2) Attempt any five from question No. 2 to 8.

3)  Figures to the right indicate full marks.

4) Draw neat diagrams wherever necessary.

Q1) Define the Macro Economics. Explain the nature, scope and limitation of
Macro Economics. [20]

02) What is credit control? Explain the quantitative and qualitative credit control

by Central Bank. [16]
03) Define Trade Cycle. Describe the phases of Trade Cycle. [16]
04) Explain the Milton Friedman's Approach of money. [16]
05) Explain the causes and effects of Inflation. [16]
06) Answer in brief: [16]

a) Explain the principles of Taxation.

b) What are the functions of Money?

PTO.



07) Explain the Keynesian Theory of Employment in detail. [16]

08) Write short notes: [16]
a) Difficulties in Measuring National Income.

b) Nature and scope of Public Finance.

Q00
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Total No. of Questions : 8]

P592
[S063]Ext.-253
S.Y. B.Com.
BUSINESS ECONOMICS - II (Macro)
(2013 Pattern)
(TSt BUTaR)
gz 3 ara | [ Tgor 7707 : 100

gEqr :~ 1) YT I T HTE.

2) myT & 2 a8 ard#l Fiviag grar 99T qisar.
3) IFFIESIT S TvIIR QU JOT FIaana.
4)  STFIIAHAT AT A9 GAF HTHET HIET.

Tv71)

g972)

797 3)

97 4)

T575)

7957 6)

Ut refyTrET= ST T, anyeieht stefveme Tawy, s trfur weier
T . 20]

UATHEAUT FEUTS hdl ? HETTA! sichell WEATCHSh SATTUT UTTeHeh Ud=aaTe |te

e w0, [16]
SATIRAHTE T SATEAT 1. SATIRAHIEAT AT T . [16]
Gom waeften ‘freed frewa’ arn g8tem T w0 [16]
TATATE= HRUT o gRuTH TIE . [16]
offserTa SW forar. [16]

) HAET A TY H.
g) o=l wrE hivTdt ?



gy77) | giedl AR faegrare aferer sasieRor . [16]

yo78)  fem femr. [16]
31) T I WA ASAU.
q) HEAHE AEHAT FEY ST SATHT,

Q00O
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Total No. of Questions :5] SEAT No. :

P593 [Total No. of Pages : 4

[5063]Ext.-254
S.Y. B.Com.
BUSINESS MANAGEMENT
(2013 Pattern)

Time : 3 Hours] [Max. Marks :100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Explain the meaning and importance of Management. [20]
OR

Define Organisation? What are the principles of Organisation.

02) What are the barriers of communication. [20]
OR

Define controlling? Explain the steps and Importance of controlling?

03) Define the term 'management'. Describe various challenges before
managers? [20]

OR

What do you mean by forecasting? Explain the need and techniques of
forecasting?

04) What do you mean by direction? Explain the principles and importance of
direction? [20]

OR

Define Motivation? Explain Maslow's Need Hierarchy Theory.

PTO.



05) Write short note on (any four).

a)
b)
c)
d)
e)
f)

Sources and methods of Recruitment.
Hertzberg's Motivation Hygiene Theory.
Function's of a leader.

Importance of Disaster Management.

Importance of Business Ethics.

Modern Indian Economic Thought's of Mahatma Gandhi.

QOO0
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Total No. of Questions : 5]

P593
[5063]Ext.-254
S.Y. B.Com.
BUSINESS MANAGEMENT
(2013 Pattern)
(TSt BUTaR)
gz 3 ara | [ Tgor 7707 : 100

e :— 1) @d 97 qISlE0 Sravas 3.

2) ITHIHSIT i QUI T FIAATA.

Tv71)

97 2)

7973)

gv74)

TEEATIATAT 7Y AT HEged TIY . [20]
feRart
HHEA STEAT 21?7 FueA=l dedl FfaEal .

HAIEEATATA ASAS TfEar TIE . [20]
e

== SETEET W ? s vEe 9 gt |,

SIFTATIATEN ST &1 ? ST AEaRie fafay emegm fave w0, [20]
e
qAIAT FEUR 1A ? GAFAMATE /RS o T T8 0.

ey o i ? Ry 9 9 g TE w0 [20]
e

FTTYTO= SATEET G ? WA 9redT Al ST Avften fhsera e
w0



gy75) ongema feur fogr. (urard = m)
) HUA HIAT HUATST AL T .

) el et aran oy faweres stfisron faega.

&) Aqeardt wE.

) AU SFGEATIATS HEed.

3) e Hdme 9E.

W) WETHT e A YR ARG TR o,

Q00O
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Total No. of Questions :5] SEAT No. :

P594 [Total No. of Pages : 4

[5063]Ext.-255
S.Y. B.Com.
ELEMENTS OF COMPANY LAW
(2013 Pattern)

Time : 3 Hours] [Max. Marks :100
Instructions to the candidates:

1) All questions are compulsory.

2)  All questions carry equal marks.

Q1) Define "Company". Explain the features of company. [20]

OR

Explain in detail the stages in formation and incorporation of a company.

02) What is Articles of Association? Explain the contents of Articles of
Association. [20]

OR

What is share capital of a company? Explain in detail the nature and kinds of
shares.

03) a) What is share transfer? Explain the Procedure of share transfer.  [10]
b)  Write a note on "MCA Portal" [10]
OR

a) What is transmission of shares? Explain the procedure for transmission
of shares.

b) Explain the procedure for E-filling.

PTO.



04) Explain in detail the Duties and Powers of Board of Directors. [20]

OR
Define "Managing Directors". Distinguish between Managing Directors and
Manager.
05) Write short notes (any two). [20]

a) Meetings of share holders.
b) Rehabilitation of sick companies.
c) Provisions regarding compromise and arrangement.

d) Voluntary winding up of company.

Q00O
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Total No. of Questions : 5]

P594
[S063]Ext.-255
S.Y. B.Com.
ELEMENTS OF COMPANY LAW
(2013 Pattern)
(TSt BUTaR)
gz 3 ara | [ Tgor 7707 : 100

T :— 1) @F 97 Hard 3irgd.

2) @F AT GHT JOT STRA.
3) devlarst ye s geagiAST UgTE.

Tv71)

g972)

797 3)

“shut’’ AT T, el SfvTeR Ty . [20]
feman
HUATE TATIAT o TQUileiel raEer Al TIY .

HuAtEt ATt TS %1 ? ShuHreaT HaATaediel Aeiee WE wa. [20]
femar
HAAD WATT-HISTA U h1T ? W T&ET AT TehR AfSER T .

) WNT-FEATAR TZU h1d ? HIT-FEATARUTTe Shiauegd! TIY . [10]

q) TRu foer - Shut S T TavgR (THLHL UL ). [10]
e

) WNT-HHUUT U H1T ? WHT TSHAUTTE hEgegd! TIY .

q) 3 - wEfET wREYsEd TE w1



gv74) EATH WSHTS sl ATV ATUHR AfR T .
feran

[20]

‘‘CoaTe HuTeleh  SATEAT O, SHaET HeToleh o SHaEdTaeh ATdIeT Wleh T

<hT.

gg75)  Ew forgr. (wivrerEt 3)
31) WRTURERTEAT AHT
) ARl HUT g
F) ASIE T HATEIEST aET
) wudra Ufesw wuTHieRo

Q00O
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Total No. of Questions :5] SEAT No. :

P595 [Total No. of Pages : 4

[5063]Ext.-256
S.Y. B.Com.
BUSINESS ADMINISTRATION (Paper - I)
(2013 Pattern)

Time : 3 Hours] [Max. Marks :100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Explain the social responsibilities of business towards customers and
employees. [20]

Q2) Define 'Limited liability Partnership'. Explain the merits and demerits of limited

liability partnership. [20]

OR
Define 'Quality circles'. Explain the advantages and disadvantages of Quality

circles.

03) a) Explain the types of Licenses required for starting a business. [10]
b) Explain the advantages and disadvantages of Business Process
Outsourcing. [10]

OR

a) Explain the techniques to boost productivity.

b) State the causes of Industrial sickness.

04) Define 'Liberalisation'. Explain the consequences of Liberalisation. [20]

PTO.



05) Write short note on: (any two).

a)
b)
c)
d)

Role of National Productivity Council.
Advantages of Public Private Partnership.

Process for forming a company in India.

Role of Government in Prevention of Industrial sickness.

Q00O
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Total No. of Questions : 5]

P595
[S063]Ext.-256
S.Y. B.Com.
BUSINESS ADMINISTRATION (Paper - I)
(2013 Pattern)
(TSt BUTaR)
gz 3 ara | [ Tgor 7707 : 100

oA o~ 1) @F gy @isfan siHar.
2) IFFIHSIT ek TR GOl JUT FEATA.

gy7l) STAIEETE UTgh o HHATATAh ATAAT TATEEHI TAE . [20]

yy72) ‘uaifed AarEe ATl SaTEdn wEd @ wrRIe 9 qre fawg w. [20)]
fema

“TuTaNT HEe = SATEAT e, T WIS J di¢ TIE .

gp73) ) AU GE HUAEET ATavdeh e fafay wam we ww. [10]
) TE GETIATEAR SEETE UihAT wET wEe d e @ w0 (BPO)[10]

e

) IedTEeRdT ATEAT G TIE AT

F) IR IENTI=A o forgr.

gv74) SEiemuen’ sETEa forgd @ aiurm e L [20]



gy75)  ongema feur fegr. (Suretd 2e)
3T) A IeuTgehaT URuee! qiHeRT.
¥) AradiHer @Rt Yrieie BT,

F) HRAT FIUE & HOATH Tk
) O STNTEEHTA AT iHenT.

Q00O
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Total No. of Questions :5] SEAT No. :

P596 [Total No. of Pages : 4

[S063]Ext.-257
S.Y. B.Com.
BANKING AND FINANCE
Indian Banking System
(2013 Pattern) (Special Paper - I)

Time : 3 Hours] [Max. Marks :100
Instructions to the candidates:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Explain the role of banking system in Indian economy. [20]
02) Explain the progress and performance of the State Bank of India. [20]
OR

What do you mean by Bank Nationalisation? Discuss the arguments for and
against nationalisation of Banks in India.

03) a) State the progress of Foreign Banks in India. [10]
b) State the progress and problems of Primary agricultural Co-operative
credit societies. [10]

OR

a) State the performance and problems of NABARD.

b) State the recommendations of Narasimham Committee - [ (1991).

04) Explain in detail the methods of credit control of Reserve Bank of India.|20]

PTO.



05) Write short notes on (any two).

a)
b)
c)
d)

Capital Adequacy Ratio
Role of Micro Finance
Urban Co-operative credit societies

Principles of Co-operation

Q00O
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Total No. of Questions : 5]

P596

[S063]Ext.-257
S.Y. B.Com.
BANKING AND FINANCE
Indian Banking System
(2013 Pattern) (Special Paper - I)
(Wt wuTaR)

gz 3 | [ Tzor 7707 100
geAr :— 1)  @d qv7 qiSlav Sravae,

2) IFAIHSIA 3 TUT FIAATA.
3) @guiars? g@ A TYTUIAHT TFTEl.

g7 1)

T972)

797 3)

g7 4)

TRATT referaeodicl Sehyumeie JYiHeht T8 &. [20]

e ook ATk sfeam= Wit anfor wmfi wferar Tog . [20]
e
TehTo WHRAHIUT TEUR T ? MH AR aejd & ferielt e Jerdtarg wag

<hT.

) WRATHE faeft derent T @ [10]

g) WUt FEt TgHRRl TaETTet Wt F THET 9. [10]
e

) ATaTEEl HERR T TEET 9A .

¥) TfEgw At -1 (1991) = Prersht amm.

UReT Ereg dehean uatasumean veadt Aferay T &, [20]



gg75) & ferr. (ot gH)
) wIETATET GIAUUT
) gen fomreht e
®) AR GghRl gaeedT
) WEHNE! a

[5063]Ext.-257
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Total No. of Questions :5] SEAT No. :

P597 [Total No. of Pages : 4

[5063]Ext.-258
S.Y. B.Com.
BUSINESS LAWS AND PRACTICES (Paper - 1)
(2013 Pattern)

Time : 3 Hours] [Max. Marks :100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Explain the following terms under Maharashtra Agricultural Produce Marketing
(Regulation) Act. 1963. [20]

a) Agricultural Produce.
b) Broker.
c) Commission Agent.

d) Market committee.

02) Explain the term Insurance Policy. State the characteristics of Insurance.|20]
OR

Explain the term life Insurance. State the features and Basic Principles of life
Insurance. [20]

03) a) State the Difference between fire Insurance and marine Insurance. [10]

b) Explain the Procedure of marine Insurance. [10]
OR

a) Explain the provisions of Industrial Dispute Act. 1947 as regards 'Strikes'

and 'Lockout'. [10]

b) State the types of partners under partnership Act. 1932. [10]

PTO.



04) Explain the terms and conditions for cancellation of Registration under
maharashtra co-operative societies Act. 1960. [20]

05) Write short notes on (any two). [20]
a) Layoff and Retrenchment.
b) Types of marine Insurance.
c) Reconstitution of partnership.

d) Types of co-operative societies.

Q00O
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Total No. of Questions : 5]

P597
[S063]Ext.-258
S.Y. B.Com.
BUSINESS LAWS AND PRACTICES (Paper - 1)
(2013 Pattern)
(TSt BUTaR)
gz 3 ara | [ Tgor 7707 : 100

gEqr :~ 1) qF Tv TEavaE SR,

2) IFAIHSIT Ik TIATR QI T FIAATA.
3) d@evlarst ye sust gvaataeT gz,

Tv71)

g972)

7973)

TERY FHH Seaw Tt fafee femm s 1963 T9R gdie d@eheat w9

&, [20]

) I,

) .

%) IS

) R Afee.

“femn’’ & deheut wg w0, faml aen aforer we w0, [20]
e

Sfrem formn o @ ? Stta foem=ht afvresr enfor gasa o afoem e

TN [20]

ar) erfafeamn enfor At femn ardier W @, [10]

¥) wrd o safear=ht ueadt wmm. [10]
e

) SArENfie weg wEE, 1947 TR WU 9 Tr@ddl aradedt aiqet Ty

TN [10]

¥) wTiEr wEer, 1932 J9R 9RiieR™ YR fave =. [10]



gy74) UERIY TEehT AT AT, 1960 Faria Tgehtdl Gt Figuit T8 HuITard=an
ATEYah qLqEl |, [20]

gy75) enewm@ Aur forgr. (ST 9F) [20]
1) hHEE! AT TR hUTd.
9) il fomm uen.
%) HRIGH S Y.
T) WEHN A TSR,

Q00O
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Total No. of Questions : 9] SEAT No. :

P598 [Total No. of Pages : 2
[5063] Ext.- 259

S.Y.B.Com.
CO-OPERATION & RURALDEVELOPMENT
(2013 Pattern) (Special Paper - 1)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1) Question No. 1 is compulsory.

2) Solve any 5 questions from the remaining questions.

Q1) Explain the main provisions of Bombay provisional Co-operative societies
Act, 1925. [20]

02) State the importance & need of multi state cooperative societies Act.  [16]
03) Explain the role of Registrar of Co-operative societies of Maharashtra State.[16]
04) Explain the problems of Housing & Consumer Co-operative societies. [16]

05) Define rural development. Explain the scope & Objectives of Rural
development. [16]

06) Explain the thought & Work of Mahatma Gandhi in rural development. [16]

07) What do you mean by Panchayat Raj? Enumerate the effects of panchayat
Raj system on rural development. [16]

08) State the concept 'Peoples participation'. Explain the development strategy of
modern village. [16]

09) Explain the opportunities & effects of globalisation on rural development.[16]

e



Total No. of Questions : 9]

P598
[5063] Ext.- 259
S.Y.B.Com.
CO-OPERATION & RURALDEVELOPMENT
(2013 Pattern) (Special Paper - I)
(A3 HATAR)

ges : 3 ard] [ vzur 707 - 100
goA: 1) U A | AISiu STeavEdE .

2) U R 2 0 9 Uehl hivIAE! Ut U9 i,

3) TEHIETS! o5 SUS UYUlh UgTat.
gy7 1) g Al TR Sgehit qearen sEe 1925 = gea atqat g w0.[20]
oy72) EOSd OEHT HEN TG HEed o TR |, [16]
g97 3) IR TSATA Hgehil TeiaTed g e it e . [16]
Tv7 4)  TEEIOT ST UTgeh WEeh HEATAT AHE TAE A [16]
gy7 5) unir s saren . andion faerrarh s @ siees e . [16]
gg7 6) unhul et werem meie foem a et T %, [16]
go77) UoEad TS SHEEAT FEUTS i ? Uead Tt sqekdl aniiun feeprraredier aftomm faore

. [16]
97 8)  CAhTEN WU € Heheu-l TIE 1. SISt Ul forshraraerae sggter v . [16]
g97 9) umiiun ReRrETETEa ARTdATSRUT=AT Helt | TRuTH T 5. [16]
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Total No. of Questions : 6] SEAT No. :

P599

Time : 3 Hours]

[Total No. of Pages : 4
[S063]Ext.- 260

S.Y. B.Com.

COST AND WORKS ACCOUNTING (Paper - I)

(2013 Pattern)
[Max. Marks : 100

Instructions to the candidates:

1)
2)
3)

01) 2)

b)

All questions are compulsory.

Figures to the right indicate full marks.

Use of calculator is allowed.

Fill in the blanks : [5]

i)

A cost which in aggregate tends to vary in direct proportion to
changes in the volume of output or turnover is known as

i) The stock level is that Quantity below which the stock of
any item should not be allowed to fall.

iii) Job helps the management in placement, transfers and
promotions of workers.

iv) Efficient time booking helps to minimise .

v) _ isthe price paid for something.

State whether the following statements are true or false : [5]

i)  Cost Accountancy includes costing and Cost Accounting.

i)  Abnormal costs are ultimately charged to Costing Profit and Loss
Account.

i) Stores ledger card records both quantities and values of materials.

iv) ABC analysis is the rate of change in the labour force of company
during a specified period.

v)  Works Cost + Administrative overheads is equal to value of material

consumed.

02) Define the term classification of cost? Explain the classification of cost on the
basis of functions & behaviour. [20]

PTO



OR

a) Explain the concept of Direct Costing in detail. [10]
b) Explain minimum five steps involved in purchase procedure. [10]
03) Write short notes on : (any four) [20]
a) Measurement of Labour Turnover.
b) Selling & distribution overheads.
c) ABC Analysis.
d) MeritRating
e) Taylor's differential Piece Rate System.
f)  Use of Computer in stores Accounting.
Q04) a) The following information has been obtained from 'X' Industries Ltd.,

for a quarter ending 31% March, 2015. [15]
*  Opening stock of Raw Material 1,00,000
*  Closing stock of Raw Material 74,000
. Purchases of Raw Material 6,00,000
»  Officetravelling expenses 5,000
»  Carriage Inward 10,000
e  (Carriage Outward 15,000
»  Depreciation on plant 18,000
e  Factory Rent 12,000
. Bad debts 7,000
. Office Rent 10,000
e Productive wages 20,000
e  Salesman's Salary & Commission 4,000
. Octroi 4,000
. Gas, Fuel and Water 8,000
*  Managers salary 9,000
(He devotes 2/3 of his time to factory)
. Sales 10,48,000

Prepare a cost sheet showing that the managers salary includes 1/3
devotion of time to office.
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Compute
i)  Cost of material consumed.
i) Prime cost.
iii) Works cost.
iv) Cost of production.
v) Total cost.
vi) Profit / Loss.
b) Calculate Economic Order Quantity from the following particulars. [5]

Annual Consumption 1600 units.

Cost of material per unit Rs. 40.

Cost of Placing and receiving one order. Rs. 200.

Annual carrying cost of Inventory 10% of inventory value.

5) a) From the following information relation to two materials X and Y for the
g
year 2015-16, determine which of the two materials is fast moving.[10]

Particulars Material

X Y
Opening stock 25000 20000
Closing stock 75000 20000
Purchases 50000 40000

b) Prepare a stores Ledger Account on the basis of First in First out method
of pricing the issue of stores using the following information about material
G-7 of Universal Ltd., Bhopal for March, 2014. [10]

1** Material in hand 300 units @ Rs. 9.70 per unit .
3" Purchased 250 units @ Rs. 9.80 each.
11™ Issued 390 units.

14" Shortage of 10 units.

15" Purchased 300 units @ Rs. 10.05 each.
18" Purchased 150 units @ Rs. 9.60 each.
20" Issued 210 units.

24™ Purchased 110 units @ Rs. 9.90 each.
25" Issued 300 units.

28™ Purchased 150 units @ Rs. 10.30 each
29 Issued 210 units.
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06) Calculate the earning of a worker under Halsey premium plan and Rowan
premium plan separately, with the help of following data.

A worker finished his job within 72 hours as against 90 hours allowed. Hourly
wage rate is 25 paise. Under Halsey plan, he is to be paid 50% of the time
saved. [10]

2R
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Total No. of Questions : 5] SEAT No. :

P600 [Total No. of Pages : 4
[S063]Ext.- 261

S.Y. B.Com.
STATISTICS
Business Statistics - 1
(2013 Pattern) (Special Paper -1)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

3)  Use of statistical tables and calculator is allowed.

Q1) Attempt any five of the following : [10]
a) Given (AB) =156, (Ab) =144, find (A).
b) What do you mean by a time series?
c) Explain the meaning of set of fundamental class frequencies.
d) What do you mean by pivot element in simplex table?
e) When you will get an unbounded solution in simplex algorithm?
f) Ifd,=56,1,=130,find 1..
g) If ¢=0.1, estimate the profit for the year 2011 using exponential smoothing
method for following :
Year Profit (in crores)
2010 6.5
2011 9.2

02) Attempt any four of the following : [20]
a) Calculate the coefficient of association between intelligence of fathers
and that of sons given that :

Number of Intelligent fathers with intelligent sons =550
Number of Intelligent fathers with dull sons = 80
Number of Dull fathers with intelligent sons = 90
Number of Dull fathers with dull sons =580

Comment on the nature of association.

PTO



b)

d)

03) Attempt any four of the following :

a)

b)
c)

d)

Given, r, = 0.28,r,=0.42 andr,, =0.51, findr; and R ...
Fill in blanks in the following table marked by? sign.
Age | L 1d | g9 | p | L | T
56 45129 | ? ? ? ? | 691411
57 43739 | - - - - ?
Define the terms :

i)  Negative classes

i)  Additive model of time series

i)  Vital events

Write the equations of three planes of regression with variables X , X, and X..

Compute the CDR and STDR for two population A and B taking
population B as standard population. :

Age group A B
Population Deaths | Populations | Deaths
Under 5 15000 360 11000 132
5-30 20000 400 26000 312
Above 30 10000 280 16000 208

[20]
Obtain the dual problem of the following L.P.P.

Minimize Z =17 X, + 13X, + 18X

Subjected to constraints:

18X, + 12X, + X, > 13

13X, + 16X, + 14X, > 14

14X, + X, + 15X, > 11

X, + 15X, + 12X, > 17

X, X,X,>0

Describe any one of time series.

Write the procedure finding optimal solution in minimizing assignment
problem.

Fit a trend line to the following data by least square method.

Year

1991 1992

1993

1994

1995

Production

72 75

65

80

85

[5063]Ext.-261
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e)

Obtain initial basic feasible solution using North West Corner method
for following transportation problem.

Markets — D, D, D, D, Supply
Sources |,
O, 1 2 1 -+ 20
O, 3 2 2 1 40
0, I3 [ A B 1 1 R
O, 5 3 6 10 20
Demand 20 40 30 10

Also find the corresponding transportation cost.

A company has five jobs to be done. The following matrix shows the
time (in hours) taken on 5 different machines. Find minimum solution so
as to minimize the total time required.

m g O @ >

I II I1I IV \Y
15 21 20 22 14
12 14 16 13 15
13 22 15 24 16
16 24 14 21 17
17 19 18 22 15

04) Attempt any two of the following :

Given N = 1800, (A) = 850, (B) = 780, (C) = 326, (ABc) = 200,
(AbC) =94, (aBC) = 72, (ABC) 50. Find all the remaining third order
class frequencies.

a)

b)

[20]

Find 5-yearly moving average of the number of students studying in a
college shown below :

Year

1998

1999

2000

2001

2002

2003

2004

2005

2006

2007

No. of
Students

332

317

357

392

402

405

410

417

405

431

Also plot trend values with original observations on same graph.
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c) Obtain the initial simplex table for
Maximize Z = 16X + 24Y
Subjected to,
12X+ 13Y<130

31X+21Y <124
X,Y>0.

05) Attempt any two of the following : [30]
a) Given the following information find equation of plane of regression of
X, on X, and X..

Variable Mean SD [ Correlation Coefficients
X, 170 2.4 r ,=0.28
X, 160 2.7 r ;=0.49
X, 168 2.7 r,,.=0.51

b) Calculate GF.R., TF.R., Age-S.F.R., and GR.R. for the following data.
Assume that proportion of female births is 46.2%.

Age group [No. of Women | Total Births
(in years) (in 000)
15-19 16.0 260
20-24 16.4 2244
25-29 15.8 1894
30-34 15.2 1320
35-39 14.8 916
40-44 15.0 280
45-49 14.5 145
c) Following is the basic feasible solution of certain transportation problem.
Markets — D, D, D, Supply
Sources |
O, 2] ® |7 | 4] 5
0, 5 o B © ] @ [ 3
0, EREE NoN 7
0, 1 [9  [7 T
Demand 7 9 18 34

Is the solution optimal? If not find optimal solution using MODI method.

2R
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Total No. of Questions : 5] SEAT No. :

P601 [Total No. of Pages : 4
[5063] Ext.- 262

S.Y. B.Com.
BUSINESS ENTREPRENEURSHIP - 1
(2013 Pattern) (Paper - 1)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Define the term 'Entrepreneur' and 'Entrepreneurship'. Explain the importance
of Entrepreneurship. [20]

OR
Explain the Entrepreneurial career of Dr. Vitthalrao Vikhe Patil, Pravaranagar.

02) Define the term 'Innovation'. Explain the various sources of Innovation.[20]
OR

What is 'Social Responsibilities'? Explain the social responsibilities of business
towards various factors.

03) a) State the reasons for problems of Unemployment in India. [10]
OR
a) What is 'Social Audit'? Explain the advantages & Problems of Social
Audit.
b) Explain the steps in starting Franchising Business. [10]
OR

b) Whatis 'Business process outsourcing'? Explain the advantages of BPO.

04) Define the term 'Service'. Explain the opportunities to service industry in rural
& urban areas. [20]

OR

Define the term 'Self Help Group'. Explain the Evolution, Nature & Scope of
'Self Help Group'.

PTO



05) Write short notes : (any four)

a)
b)
c)
d)
e)
f)

Entrepreneurial competencies.
Contribution of Shree Bhausaheb Hire.
Techniques of Creativity.

Group Entrepreneurship.

Cultural challenges in Entrepreneurship Development.

Business Ethics.

e
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Total No. of Questions : 5]

P601
[5063] Ext.- 262
S.Y. B.Com.
BUSINESS ENTREPRENEURSHIP -1
(2013 Pattern) (Paper - I)
(A3 HATAR)
ges : 3 ard] [ vzur 707 - 100
e 1)  HE U9 SIS SEvEs .
2) VARSI 37k YUl U7 EIifadTa.
g7 1) ‘SESe U ‘SEISTRAl AT HeheUATSHN SITEAT €. Jeliciehdl Wged T8 1. [20]
e
gy72) ‘SRR a1 HeheuA< STRE €, AaAiid Sid T . [20]
e
AR TTaEER! TgUTS i ? saaararea fafer aeshemaa=an gt Sataer=n
WY w0,
g7 3) 3) WRATA SRISRTRAT TN HRO TR, [10]
e
HA) AHINTR HAUT TEUTS hid ? AN HAheAUT B o THET T8 &,
q) HAEEUER T& hUaIrdl Ul [ 20 T . [10]
e
) ‘e sgeEE uteRr (BPO) 12U i ? |Te Hidied ufshae were T
.
g7 4) ‘Ear I HeheuA<i SATEAT AN, W LTSI ATHUT & I1gdt WrTrdier deft vag s, [20]

feran
‘T HEd T’ AT Heho U<l SAIEA1 1. €A el Icshidl, TET o SATHl T8 .



gy7 5) g Al forgt (SivTed wn) ¢
HA)  IESARA T
) ot wsERe IR 9 arEE.
&) Al emash @@,
T) TWE SRl

3)  IEISIHA TehTETdIl FREheieh TTegH.

W) SR e,

SR
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Total No. of Questions : 5] SEAT No. :

P602 [Total No. of Pages : 2
[5063] Ext.- 263
S.Y. B.Com.
MARKETING MANAGEMENT -1
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1)  All questions are compulsory.

2)  All questions carry equal marks.

Q1) State the objectives of Marketing Communication. Explain the different forms
of appeal for communication. [20]

02) Define Services Marketing. Explain the tasks involved in Services Marketing.[20]

OR
Define Global Marketing. Explain the features and importance of Global
Marketing.
03) a) Explain the present status of Rural Marketing in India. [10]
b)  Whatis contemporary rural marketing environment? [10]
OR

a) Explain the advantages of Online and Offline Marketing.
b) Describe the different forms of buying motives.

04) Explain the role of Marketing Manager in Green Marketing. [20]

05) Write short notes on : (any two) [20]
a) Nature of Marketing Management.
b) Principles of success of Green Products.
c) Utility of E-marketing.
d) Features of Rural Marketing.

e



Total No. of Questions : 5]

P602
[5063] Ext.- 263
S.Y. B.Com.
MARKETING MANAGEMENT -1
(2013 Pattern)
(A3 HATAR)
ges : 3 ard] [ vzur 707 - 100
guar: 1)  Td A et ey ST,
2) STEIREA 3k TPAT Ui U7 guiterar.
go7 1) fouum EevEEAE SfYTS WM. HevTEEAT Mg shvarean fafae ugdt wum . [20]
go72) Qo fauue’ sawen . Sen fauumme st S s i ? [20]
feRan
‘WRTfereR oo’ samean 2. Smtes feauar ST enftt Aeca wus <.
g7 3) ) WRAre yron feuuER Taferd T %, [10]
d) UHEHICNA JTHIUT fEUuE u=ierun I i ? [10]
feRan
) AR T ATHATEA HIch (Tl BIEe TIY .
) TRE WU Aoy geRr T w9
o7 4) i fuumma Rovm sreremmeR gften T . [20]
gg75) arsemE dw g (Siumd 9F) ¢ [20]

HA) fouom sEraTER e,

q) A IcuTeAT= AIREEAR ded.
&) T HIeh{eT=N USRI,

g) o feguETR 9.

S
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Total No. of Questions : 8] SEAT No. :

P603 [Total No. of Pages : 2
[5063] Ext.- 264

S. Y. B.Com.
AGRICULTURAL AND INDUSTRIAL ECONOMICS
(2013 Pattern) (Special Paper - 1)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) Question No. 1 is compulsory.

2) Attempt any five from question No. 2 to 8.

3)  Figures to the right indicate full marks.

Q1) Explain in detail nature of risk and uncertainty in Agricultural. [20]
02) Explain the importance of Agriculture in Indian economy. [16]
03) Explain in detail the factors affecting the demand for Agricultural Product.[16]
04) Explain economic and Non economic aspects of Industrial efficiency. [16]
05) Explain sargent florence theory of Industrial location. [16]
06) Answer in Brief. [16]

a) Explain the importance of Industrial economics.

b) Explain the concept of plant, Firm and Industry.

07) Explain in detail factors affecting Industrial productivity. [16]

08) Write a short notes on. [16]
a) Optimum size of firm.

b) Industrial Productivity.

SRR



Total No. of Questions : 8]
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[5063] Ext.- 264
S. Y. B.Com.
AGRICULTURAL AND INDUSTRIAL ECONOMICS

(2013 Pattern) (Special Paper - I)

(A3 HATAR)
ges : 3 ard] [ vzur 707 - 100
goat: 1) A ufgen sifHad s,
2) UYA T 2 8 ATUeh! THIVTAE! UTel T9 Higd.
3) SHAIhREA 3 T T ST

gv7 1) ST ik 30T AT IaAY Ty Aok TIE . [20]
Ty72) AR ASHTEAA FHt LA Hged AR TIE . [16]
g973) JAHTATSAT UNTUTER URUTH 0RO Al T8 . [16]

o7 4) 3iEniis SEHdeR TR SR il o i U2 T8 . [16]
g97 5) WISic FAlE=n sienies T fesiiden frga s =, [16]

Tv7 6) NS I for. [16]
) i SteivET Uged IS .
)  TEA, STTEEAT VT AT AT HReUAT T HAL

gy77) IieNfieR Scdigehder URUTH SIUTR UCeh I8 .

g978) s dm forgn. [16]
HA) UIH STEEA
q)  3fEieh IcaTEehdl
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Total No. of Questions : 5] SEAT No. :

P604

[Total No. of Pages : 4
[5063] Ext.- 265

S.Y. B.Com.

DEFENCE BUDGETING, FINANCE AND MANAGEMENT

(Paper-1)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:

1)  All the Questions are compulsory.

2)  Figures to the right indicate full marks.
Q1) Answer in 20 words each (any ten) [10 x 2 =20]
i)  Write any two merits of defence budget.
i)  Write the advantages of financial management.
i) Write any two demerits of peace time economy.
iv) State the concept of military leadership.
v)  Write any two disadvantages of foreign collaboration.
vi) Define war potential.
vil)) Define Grand strategy.
viii) State the meaning of counter intelligence.
ix) State the meaning of industrial complex.
x)  Write any two sources of war finance.
xi) Define perspective defence planning.
xil) What do you mean by Zero budget.
xiil) State the meaning of mobilization of war resources.
02) Answer in 500 words (any one) [20]
i)  Explain relationship between war and economy.
i)  Describe technological dimension of national security.
03) Answer in 500 words (any one) [20]
i)  Describe role of private sector in India's defence production.

if)

Describe role of D. R. D. O in India's defence production.



04) Answer in 500 words (any one) [20]
i)  Explain salient features of Indian Economy.

ii)  Describe determinants of defence expenditure.

05) Write short note on (any two) [2 X 10 =20]
i)  Role of political Ideology in national security.
i) Causes of increasing defence expenditure.
i) Techniques of controlling inflation.

iv) Basic features of zero budget.

S
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Total No. of Questions : 5]
P604
[5063] Ext.- 265
S.Y. B.Com.
e s=idin wRETR sive WAwmw (Paper - 1)
(2013 Pattern)

(A3 HUTAR)
ges : 3 ard] [ vzuT 707 - 100

e 1) HE Y AUl SEvas A
2) ISEIREA 37k U1 gYitaET.

g7 1) 20 vrsem SW A (KT S81) [20]
i)  TREUT JSTIUAHT HIUIAE! S TUTerd THg .
i) o SEEATIATS TN AE HA.

iil) VIAATERTENR sreferea=it HUg 3 g forgr.
iv) TSRl A TEUTS A ?

V) URhIT HEeRE SUAE g dle THE .
Vi) FGeHdl ST .

vii) ‘U8 TSIl SAREAn .

Viil) SIEwer T o 37 TE H.

iX) TEEEe v o 39l forgn.

X) gL HheHT HIVIAE S T TG H.
xi) UEuedieg fetha wit samwe &=

Xil) T SR LRI TEUTS .

Xiil) FgEeTEuRi aEEr 31t forer.

gy72) 500 v1egmd ST S (HIVTAE! UHh) [20]
i)  Feg MU ST AT HEY TS .

i) ‘TE gres qifes U guia .



757 4)

97 5)

500 vrsaTa IR A1 (SHIVTAE! Teh) [20]
1)  WRATEET TN ST TN ISeaRTgaTe YiHeht,— JuH .

i) WRATEA TREAVT ICATEATA TRV WA Ut forhme wore fwmaretesn
uftrere quiv .
500 IsETa I A1 (SHIVTAE Th) [20]

) HRAE STt S AVTSR (TUTEH) TAE .
i) TRer T FReuilia wRurn gew auia .

effSerITa 211 = (Tt 3) [20]
) U gremadh T foemarREn e

i) TR T ATEUET ROl

i) wegTEer FEtE e fafay @

iv) TRl stes gerd o

e
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Total No. of Questions : 9] SEAT No. :

P605 [Total No. of Pages : 2
[S063]Ext.- 266

S.Y. B.Com.
INSURANCE TRANSPORT AND TOURISM (Paper - 1)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) Question No. 1 is compulsory.

2) Solve any 5 questions from Q. No. 2 To Q. No. 9.

3)  Figures to the right indicate full marks.

Q1) Describe the organisational structure of life Insurance Business in India. [20]

02) What mean by Insurance Agent? Explain the Role of Insurance Agent in
Insurance sector. [16]

03) Explain the various kinds / Types of General Insurance. [16]

Q4) What are the opportunities before Indian Insurance Business Explain in detail.
[16]

05) Define Tourists? Describe the various types of Tourists. [16]

06) Define General Insurance? Explain scope and principles of General Insurance.
[16]

07) What mean by Tour operator? State the responsibilities of Tour operators.[16]
08) What are the challenges before Indian Tourism? Describe in detail. [16]

09) What do you know about Tourism. Accommodation? Explain the different
kinds / Types of Tourism. Accommodation. [16]

e



Total No. of Questions : 9]

P605

[S063]Ext.- 266
S.Y. B.Com.

INSURANCE TRANSPORT AND TOURISM (Paper - I)

(2013 Pattern)

(ATET FATHR)

ges : 3 ard] [ vzur 707 - 100

T :

1) U9 U | GISo sevdes o,
2) YA SRR 2 o T SHATR 9 WYA VTR 5 T HiEa.
3) VARSI 37 YUl UT EvifadTa.

yo7 1)
97 2)
97 3)
797 4)
777 5)
777 6)
797 7)
97 8)

797 9)

WRATATE ST SATETET Fere-TeHeh ToH1 a9Tg . [20]

form—usie (ufafel) rgurt s 2 forn Qe form uter=it srerett aftren voe %, [16]

Td Tumu i s fafae e s . [16]
TR ferm ssraarn el s/een fafae aeft aferay Tae =, [16]
TRICehTEN SAREAT M ? GeehT™l 3o fafaer wenr fevre . [16]
“wd et fermn” =it samea w2 ad wnerrut fermsht st snfut ac e . [16]
T — TSR FgUTS i ? ATA—SATESTeRT=AT JATear=a1 9. [16]
AR T TR STEe e, Afaer &g . [16]
THeA-ATEsaEA AEEA AT A AT ? e Hawsaaed swed fafay

TR TIY HA. [16]
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Total No. of Questions : 8] SEAT No. :

P606 [Total No. of Pages : 3
[5063]Ext.- 267
S.Y. B.Com.
COMPUTER PROGRAMMINGAND APPLICATIONS
VB Script and RDBMS (Paper - 1)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1)  Question 1 is compulsory.

2) Solve any five questions from Q.2 to Q.8.

3)  Figures to the right indicates full marks.

4) Neat diagram must be drawn wherever necessary.

Q1) Attempt any four of the following [4 x 5 =20]
a) Whatis IIS?
b) What is the purpose of ReDim statement of vbscript?
c) Explain various logical operators of vbscript?
d) Explain system DSM and File DSM?
e) What are the various Roles of SQL.

02) Attempt any four. [16]
a) Trace the output of given code :
<Script Language = "vbscript" >.
var 1 =3
var2=9
mul = varl * var2.
document. Write ("multiplication of two numbers" & var | and var 2 &
"is" & mul)
</script>
b) Explain any four Date functions of vbscript.
c) Explain index. With it's types?
d) Whatis In and Between operator?
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03) Attempt any four.

a)
b)
c)
d)
e)

Write about string concatenation operator.
Explain universal data. Access.

State the types of system privileges.
Explain the view with examples.

What is RDBMS?

04) Attempt any four.

a)
b)
c)
d)
e)

What are variant data subtypes of vbscript.
Explain select ..... case statement with example.
Explain select command with all options.

what are the types of Database security?

Explain create user and Drop user privileges.

05) Attempt any four.

a)

Solve the following :

i)  Create table Doctor (D.id, Name, location, specialization)
i)  Display all the records of Doctors.

ii) Delete all the record of doctors fromt Bombay.

Explain Intersect, union and minus operator.

What are different types of Indexes?

Explain any four string functions of SQL.

What are the Roles of SQL?

06) Attempt any four.

a)
b)
c)
d)
e)

What is synonyms? How to create synonyms.
Explain Rowld and Rownum.

Explain Get and post methods.

Write syntax of Alter and update commands.

Explain various windows methods of Dom.
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Q7) Attempt any four. [16]
a) Explain msgbox () and Inputbox () commands of vbscript.
b) Explain any four mathematical functions of vbscript.
c) whatisan array? How to creat array in vbscript?
d) Explain types of SQL Equi joins
e) Explain Floor () and Trunc () function of SQL

08) Attempt any four. [16]
a) Explain in short about DOM object of vbscript.
b) State the components of ODBC
c) Explain Topdown Vs Event driven programming.
d) Explain subqueries with example

e) Write classification of SQL commands.

2R
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